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1. Which of the following about Rudradaman is/are correct ?

i. He is known for Junagadh inscription.

ii. He undertook the restoration of a reservoir called Sudarshana lake.

iii. He defeated the Satkarni ruler Gautamiputra.

iv. He married his daughter to Gautamiputra’s son, Vashishthiputra Pulumavi.

A) Only (ii)    B) Only (ii and iii) 

C) Only (i, ii and iv)   d) All the above (i, ii, iii and iv)

2. Which of the following is/are not correctly matched ? 

i. Vikramankdevacarita – Bilhan

ii. mattavilasa –  mahendravikramavarman

iii. Svapnavasavadatta – Bāna

iv. Devichandragupta  – Visākhadatta

A) Only (ii)   B) Only (iii) 

C) Only (i and iv)   d) All the above

3. Which of the following ancient text refers to Chandragupta maurya as being of low 
social origin ?

A) mahavamsa   B) milindapanha 

C) mudrarakshasa   d) Parishishtaparvan

4. Which of the following is not correct about ancient literature ?

A) Sutras and Sāstras are together known as Smriti. 

B) Manav Dharma Sāstra is also known as lawbook of Manu. 

C) Mitāksharā is a commentary on the lawbook of Yājnavalkya. 

d) dharma Sutras deal with domestic religious ceremonies.

5. Which of the following is/are not correct about the Mughal Jagirdāri System ?

i. All Mansabdārs were Jagirdārs.

ii. Mansabdār was assigned a Jāgir that was officially estimated to yield an 
equivalent amount of revenue.

iii. A small portion of Jāgir were also given to the Baluch and Ghakkar chiefs.

iv. After few years of revenue collection rights a Jāgirdar was given hereditary rights  
in his assignment.

A) Only (ii) B) Only (iii) C) Only (iii and iv) d) Only (iv)



 64/25 – t

a -3- 

1. ¸zµuõ©øÚ¨ £ØÔ¯ ¤ßÁ¸ÁÚÁØÔÀ Gx \›¯õÚx?

i. AÁº áýÚõPz PÀöÁmkUPõP AÔ¯¨£kQÓõº.

ii. AÁº _uºåÚ H› GßÓ }ºz÷uUPzøu «möhkzuõº.

iii. AÁº \uPºo Bm]¯õÍº öPÍuª¦zvµøÚ ÷uõØPizuõº.

iv. AÁº uÚx ©PøÍ öPÍuª¦zvµÛß ©Pß Á]èi¦zvµ ¦¾©õÂUS 
©n¢uõº.

A) Only (ii)    B) Only (ii and iii) 
C) Only (i, ii and iv)   d) All the above (i, ii, iii and iv)

2. ¤ßÁ¸ÁÚÁØÔÀ Gx \›¯õP¨ ö£õ¸¢uÂÀø»? 

i. ÂUµ©õ[P÷uÁ\›uõ – ¤Àínß

ii. ©mhÂ»õ\õ –  ©÷P¢vµÂUµ© Áº©ß

iii. ìÁ¨ÚÁõ\Áuzuõ – £õÚõ

iv. ÷uÂ\¢vµS¨uõ  – Â\õPuzuõ

A) Only (ii)   B) Only (iii) 

C) Only (i and iv)   d) All the above

3. ¤ßÁ¸® G¢u £søh¯ ¡ÀPÒ \¢vµS¨u ö©Í›¯øµ uõÌ¢u \‰Pzøu  

\õº¢uÁº GßÖ SÔ¨¤kQÓx?

A) ©PõÁ®\®   B) ª¼ßh£ßíõ 
C) •zµõµõñ\õ   d) £›æèu£ºÁß

4. £Ç[Põ» C»UQ¯® £ØÔ¯ ¤ßÁ¸ÁÚÁØÔÀ Gx \›°Àø»?

A) `zvµ[PÐ® \õìvµ[PÐ® JßÓõP ìª¸v GÚ¨£k® 

B) ©õÚÆ uº© \õìvµ® ©ÝÂß \mh ¦zuP® GßÖ® AøÇUP¨£kQÓx 

C) ªuõñµõ Gß£x ¯UbÁÀQ¯º \mh ¦zuPzvß ÂÍUPÄøµ

d) uº© `zvµ[PÒ EÒ|õmk ©u ÂÇõUPøÍU øP¯õÒQßÓÚ

5. •P»õ¯ áõQºuõ› •øÓø¯¨ £ØÔ¯ ¤ßÁ¸ÁÚÁØÔÀ Gx \›¯õÚuÀ» ?

i. AøÚzx ©ß\¨uºPÐ® áõQºuõºPÒ.

ii. ©ß\¨uõ¸US AvPõµ¨§ºÁ©õP \©©õÚ Á¸Áõø¯ Dmk® GßÖ 
©v¨¤h¨£mh J¸ áõQº JxUP¨£mhx.

iii. £¿a ©ØÖ® PõUPº uø»ÁºPÐUS® J¸ ]Ô¯ £Sv áõQº ÁÇ[P¨£mhx.

iv. ]» Á¸h Á¸Áõ´ Á`À E›ø©PÐUS¨ ¤ÓS, J¸ áõQºuõ¸US AÁµx 
£o°À £µ®£øµ E›ø©PÒ ÁÇ[P¨£mhÚ.

A) Only (ii) B) Only (iii) C) Only (iii and iv) d) Only (iv)
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6.  Which of the following is/are not correctly matched ? 

i. Bal Gangadhar Tilak : Tenets of the New Party

ii. lala Harkishan lal :  Tribune

iii. Lala Lajpat Rai : Bharat Mata

iv. Sirajuddin Ahmad : Anjuman-i-Mohibban-i-Watan

A) Only (i) B) Only (iii) C) Only (iii and iv) d) Only (iv)

7. Consider the following events of the Indian National movement :

I. RIN mutiny II. Cabinet mission

III. Cripps mission IV. Shimla Conference

 What is the correct chronological order of these events ?

A) IV, III, II, I B) IV, III, I, II C) III, IV, I, II d) III, IV, II, I

8. Consider the following statements :
  statement I : Rajkumar Shukla invited Mahatma Gandhi to lead the Champaran 

Satyagraha in Bihar in 1917.

  statement II : The farmers of Champaran were forced to grow indigo under the 
Tinkathia System.

 Which of the following is correct in respect of the above statements ?

A) Both Statement I and Statement II are correct and Statement II explains  
Statement I 

B) Both Statement I and Statement II are correct but Statement II does not explain 
Statement I

C) Statement I is correct but Statement II is incorrect

d) Statement I is incorrect but Statement II is correct

9. Consider the following :

1. Sido 2. Velu Thampi 3. Chinnava

4. Vijayarama 5. Birsa 6. Rampa

 Who among the above were the tribal leaders ?

A) 3 and 5   B) 1 and 5 

C) 1, 5 and 6   d)  1, 4, 5 and 6
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6.  ¤ßÁ¸ÁÚÁØÔÀ Gx \›¯õP¨ ö£õ¸¢uÂÀø»? 

i. £õ» P[Põuµ v»Pº : öhÚßmì BL¨ v {³ £õºmi

ii. »õ»õ íºQåß »õÀ :  m›¨³ß

iii. »õ»õ »ä£z µõ´ :  £õµz ©õuõ

iv. ]µõáûwß AP©x : Ag_©ß&C&ö©õî¨£ß&C&Áuß

A) Only (i) B) Only (iii) C) Only (iii and iv) d) Only (iv)

7. C¢v¯ ÷u]¯ C¯UPzvß ¤ßÁ¸® {PÌÄPøÍU PÁÛ²[PÒ.

I. RIN P»P® II. Aø©a\µøÁ¨ £o

III. Q›¨ì £o IV. ]®»õ ©õ|õk

  C¢u {PÌÄPÎß \›¯õÚ Põ»Á›ø\ GßÚ?

A) IV, III, II, I B) IV, III, I, II C) III, IV, I, II d) III, IV, II, I

8. ¤ßÁ¸® TØÖPøÍU PÁÛ²[PÒ. 

  TØÖ I : 1917 B® Bsk ¥Põ›À \®£õµs \zv¯õUQµPzvØS uø»ø© uõ[P 

©Põz©õ Põ¢vø¯ µõäS©õº _U»õ AøÇzuõº.

  TØÖ II : \®£õµs ÂÁ\õ°PÒ ißPõv¯õ Aø©¨¤ß RÌ Csi÷PõøÁ ÁÍºUP 

÷Ási¯ Pmhõ¯® HØ£mhx.

  ÷©ØPsh TØÖPøÍ¨ ö£õÖzuÁøµ G¢u TØÖ \›¯õÚx?

A) TØÖ I ©ØÖ® TØÖ II Cµsk® \›¯õÚøÁ, ÷©¾® TØÖ II AÔUøP  
I I ÂÍUSQÓx 

B) TØÖ I ©ØÖ® TØÖ II Cµsk® \›¯õÚøÁ, BÚõÀ TØÖ II, TØÖ I I 

ÂÍUPÂÀø»

C) TØÖ I \›¯õÚx, BÚõÀ TØÖ II uÁÓõÚx

d) TØÖ I uÁÓõÚx, BÚõÀ TØÖ II \›¯õÚx

9. ¤ßÁ¸ÁÚÁØøÓU PÁÛ²[PÒ :

1. ]÷hõ 2. ÷Á¾ u®¤ 3. ]ßÚÁõ

4. Âá¯µõ©õ 5. ¤º\õ 6. µ®£õ

  ÷©ØTÔ¯ÁºPÎÀ ¯õº £Ç[Siz uø»ÁºPÒ ?

A) 3 ©ØÖ® 5  B) 1 ©ØÖ® 5

C) 1, 5 ©ØÖ® 6   d)  1, 4, 5 ©ØÖ® 6
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10. Which of the following is/are not correct about the Second Five year Plan ?

i. Bombay Plan for economic development was proposed.

ii. It was based on mahalanobis model.

iii. Hydroelectric Power Projects were established.

iv. Rourkela, Bhilai and durgapur Steel Plants were established.

v. Gadgil Yojna of economic self-sufficiency was started. 

A) Only (i and iv)   B) Only (i) 

C) Only (v)   d)  Only (i, ii and v)

11. Which event directly led to the formation of the State of Kerala on November 1, 1956 ?

A) The Indian Independence Act of 1947 

B) The States Reorganisation Act of 1956

C) The Government of India Act of 1935 

d) The Royal Titles Act of 1858 

12. The “Education Bill” introduced by the first EMS Ministry in Kerala caused significant 
controversy. What was its primary focus ? 

A) Free technical education 

B) Introduction of English as a medium of instruction 

C) Adult literacy programs   

d) Government control over private aided schools

13. Which social reformer founded the “Sadhu Jana Paripalana Sangham” ?

A) Sree Narayana Guru   B) Ayyankali 

C) Chattampi Swamikal   d) Brahmananda Sivayogi

14. The “Temple Entry Proclamation” of 1936 was issued by which Maharaja of 
Travancore ?

A) Chithira Thirunal Balarama Varma B) Swathi Thirunal 

C) marthanda Varma   d) Rama Varma IX

15. Which Treaty between the English East India Company and Travancore in 1795, 
heavily impacted the economic autonomy of Travancore ?

A) Treaty of mangalore   B) Treaty of Srirangapatna

C) Treaty of mavelikkara   d) Treaty of Cochin
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10. CµshõÁx I¢uõskz vmh® SÔzx ¤ßÁ¸ÁÚÁØÔÀ Gx \›¯õÚuÀ»?

i. ö£õ¸Íõuõµ ÁÍºa]UPõÚ £®£õ´ vmh® •ßö©õÈ¯¨£mhx.

ii. Cx ©íõ»÷Úõ¤ì ©õv›ø¯ Ai¨£øh¯õPU öPõshx.

iii. }º ªß vmh[PÒ {ÖÁ¨£mhÚ.

iv. ¹º÷P»õ, ¤»õ´ ©ØÖ® xºPõ§º GLS Bø»PÒ {ÖÁ¨£mhÚ.

v. ö£õ¸Íõuõµ ußÛøÓÄUPõÚ PõmQÀ vmh® öuõh[P¨£mhx.  

A) Only (i and iv)  B) Only (i) 

C) Only (v)   d)  Only (i, ii and v)

11. |Á®£º 1, 1956 AßÖ ÷PµÍ ©õ{»®  E¸ÁõÁuØS ÷|µi¯õP ÁÈÁSzu {PÌÄ Gx?

A) 1947 B® Bsk C¢v¯ _u¢vµa \mh®

B) 1956 B® Bsk ©õ{» ©Ö^µø©¨¦a \mh®

C) 1935 B® Bsk C¢v¯ Aµ_a \mh®

d) 1858 B® Bsk µõ¯À øhmiÀì \mh®

12. ÷PµÍõÂÀ •uÀ CG®Gì Aø©a\PzuõÀ AÔ•P¨£kzu¨£mh “PÀÂ  
©÷\õuõ” SÔ¨¤hzuUP \ºaø\ø¯ HØ£kzv¯x. Auß •ußø© ÷|õUP® 
GßÚ?
A) C»Á\ öuõÈÀ~m£U PÀÂ 
B) B[Q»zøu PØ¤US® ö©õÈ¯õP AÔ•P¨£kzxuÀ 
C) Á¯x Á¢÷uõ¸UPõÚ GÊzuÔÄz vmh[PÒ   
d) uÛ¯õº EuÂ ö£Ö® £ÒÎPÒ «uõÚ Aµ\õ[PU Pmk¨£õk

13.  “\õx áÚ £›£õ»Ú \[P®” {ÖÂ¯ \‰P ^ºv¸zuÁõv ¯õº?

A) ÿ |õµõ¯n S¸  B) A´¯ßPõÎ 

C) \mh®¤ _ÁõªPÒ   d) ¤µ®©õÚ¢u ]Á÷¯õQ

14. 1936 B® Bsk “÷Põ°À ~øÇÄ ¤µPhÚ®” G¢u v¸Âuõ[Tº 
©PõµõáõÁõÀ öÁÎ°h¨£mhx?

A) ]zvµ v¸|õÒ £»µõ© Áº©õ B) ìÁõv v¸|õÒ 

C) ©õºzuõsh Áº©õ  d) µõ© Áº©õ IX

15. 1795 B® Bsk B[Q» QÇUQ¢v¯ P®ö£ÛUS® v¸Âuõ[T¸US® Cøh÷¯ 
HØ£mh G¢u J¨£¢u®, v¸Âuõ[T›ß ö£õ¸Íõuõµ _¯õm]ø¯ ö£›x® 
£õvzux?
A) ©[PÑº J¨£¢u®  B) ÿµ[P¨£miÚ J¨£¢u®

C) ©õ÷Á¼UPµõ J¨£¢u® d) öPõa] J¨£¢u®
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16. What was the primary goal of the “Nivarthana Agitation” ?

A) land reforms   

B) Representation in the legislative Assembly

C) Temple entry   

d) Educational reforms

17. Who presided over the Aluva Religious Conference of 1924, a significant event that 
promoted interfaith dialogue and social reform in Kerala ?

A) Sree Narayana Guru   B) Chattampi Swamikal 

C) Swami Sathyavrathan  d) Swami Bodhananda

18. Which specific clause within the Madras Estates Land Act of 1908, despite its overall 
intent, inadvertently exacerbated the pre-existing vulnerabilities of certain tenant 
groups in the malabar region ?

A) Clause relating to the standardization of land revenue

B) Clause concerning the definition of “private land” and its implications for 
customary tenures 

C) Clause regarding the introduction of new irrigation systems 

d) Clause pertaining to the regulation of timber extraction

19. Which specific Trade Agreement, prior to the arrival of the East India Company, 
significantly altered the balance of maritime power in the Arabian sea, thereby 
indirectly contributing to the later vulnerability of malabar’s Coastal Trade ?

A) The Treaty of Jeddah (1559)

B) The Venetian-Cochin Spice Treaty (1487)

C) The Portuguese-Calicut Trade Accord (1513) 

d) The Ottoman-Travancore maritime Pact (1625)

20. Which specific event or meeting facilitated T.K. Madhavan’s ability to bring the issue 
of untouchability in Kerala to mahatma Gandhi’s direct attention ?

A) The Round Table Conferences in london

B) The inauguration of the Travancore legislative Assembly

C) The founding of the All India Harijan Sevak Sangh

d) The Kakinada session of the Indian National Congress in 1923

21. Pentagonal International System of 1970s included  

A) USA, USSR, UK, Japan, China 

B) USA, USSR, UK, Germany, East Asia

C) USA, USSR, China, Japan and Western Europe   

d) USA, USSR, Germany, China, Japan
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16.  “{ÁºzuÚõ QÍºa]°ß” •ußø© C»US GßÚ?
A) {» ^ºv¸zu[PÒ   
B) \mh©ßÓzvÀ ¤µv{vzxÁ®
C) ÷Põ°À ~øÇÄ  
d) PÀÂ ^ºv¸zu[PÒ

17. ÷PµÍõÂÀ ©u[PÐUS Cøh÷¯¯õÚ Eøµ¯õhÀ ©ØÖ® \‰P ^ºv¸zuzøu 
FUSÂzu J¸ SÔ¨¤hzuUP {PÌÁõÚ 1924, B® Bsk B¾Áõ ©u 
©õ|õmiØS uø»ø© uõ[Q¯Áº ¯õº?
A) ÿ |õµõ¯n S¸  B) \mh®¤ _ÁõªPÒ 
C) _Áõª \zv¯Âµuß  d) _Áõª ÷£õuõÚ¢uõ

18. 1908, B® Bsk ö©mµõì Gì÷hmì {»a \mhzvÀ EÒÍ  G¢u SÔ¨¤mh 
¤›Ä, Auß Jmkö©õzu ÷|õUPzvØS ©õÓõP, ©»£õº £Sv°À EÒÍ ]» 
SzuøPuõµ SÊUPÎß HØPÚ÷Á C¸¢u £õv¨¦PøÍ PÁÚUSøÓÁõP 
AvP¨£kzv¯x?

A) {» Á¸Áõ°ß uµ¨£kzuÀ öuõhº£õÚ ¤›Ä

B) “uÛ¯õº {»®” Gß£uß Áøµ¯øÓ ©ØÖ® ÁÇUP©õÚ Põ»õskPÐUPõÚ Auß 
uõUP[PÒ öuõhº£õÚ ¤›Ä 

C) ¦v¯ }º¨£õ\Ú •øÓPøÍ AÔ•P¨£kzxÁx öuõhº£õÚ ¤›Ä 
d) ©µ® öÁmkÁøu JÊ[S£kzxÁx öuõhº£õÚ ¤›Ä

19. QÇUQ¢v¯ P®ö£Û°ß Á¸øPUS •ßÚº, G¢u SÔ¨¤mh ÁºzuP 
J¨£¢u®, Aµ¤U Ph¼À PhÀ\õº \Uv \©{ø»ø¯ Po\©õP ©õØÔ¯x, 
Cuß ‰»® ©»£õ›ß Ph÷»õµ ÁºzuPzvß ¤ØPõ» £õv¨¦US ©øÓ•P©õP 
£[PÎzux?
A) öámhõ J¨£¢u® (1559)
B) öÁÛì&öPõa]ß ©\õ»õ J¨£¢u® (1487)
C) ÷£õºzxR]¯&Põ¼Pm ÁºzuP J¨£¢u® (1513) 
d) Jm÷hõ©õß&v¸Âuõ[Tº PhÀ\õº J¨£¢u® (1625)

20. ÷PµÍõÂÀ wshõø© ¤µa]øÚø¯ ©Põz©õ Põ¢v°ß ÷|µi PÁÚzvØSU 
öPõsk Á¢u T.K. ©õuÁÛß vÓøÚ G¢u SÔ¨¤mh {PÌÄ AÀ»x Tmh® 
GÎuõUQ¯x? 
A) »shÛÀ Ámh÷©ø\ ©õ|õkPÒ
B) v¸Âuõ[Tº \mh©ßÓzvß öuõhUPÂÇõ
C) AQ» C¢v¯ í›áÚ ÷\ÁU \[Pzvß ìuõ£Ú®
d) 1923 CÀ C¢v¯ ÷u]¯ Põ[Qµêß PõUQ|õhõ A©ºÄ

21. 1970PÎß ö£ßhPß \ºÁ÷u\ Aø©¨¦ CvÀ Ah[S®  
A) Aö©›UPõ, USSR, UK, á¨£õß, ^Úõ 
B) Aö©›UPõ, USSR, UK, öáº©Û, QÇUS B]¯õ

C) Aö©›UPõ, USSR, ^Úõ, á¨£õß ©ØÖ® ÷©ØS I÷µõ¨£õ   

d) Aö©›UPõ, USSR, öáº©Û, ^Úõ, á¨£õß
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22.  Which of the following treaties did not redraw the map of Europe ?

A) Treaty of Vienna   B) Treaty of Versailles 

C) Treaty of Westphalia   d) Treaty of locarno

23. match the following. 
i. Guided democracy a. USA
ii. Progressive movement b. Bukharin
iii. decolonization c. Sukarno
iv. Huk Rebellion d. Philippines

A) i-d, ii-b, iii-d, iv-c   B) i-c, ii-a, iii-b, iv-d 

C) i-a, ii-b, iii-c, iv-d   d) i-c, ii-a, iii-d, iv-b

24. Organization of African Unity intended to

A) Eradicate colonialism from African continent

B) Resolve border disputes among African States 

C) Promote economic and social cooperation among the African people 

d) All of the above

25. Who analysed the role of print media in imagining nationhood ?

A) Perry Anderson   B) Benedict Anderson 

C) Victor Kiernann   d) Walter Bagehot

26. yom Kippur War was fought to

A) Recover lost territories from Israel 

B) Open access to Suez Canal

C) Occupy the territories of lebanon 

d) destroy the PlO

27. Find which statement is not true.

A) Cuban missile Crisis ended with the establishment of a direct communication 
line between the USA and the USSR to avoid future confrontation

B) Siam was a French colony in the late 19th century

C) Balkan nationalism generated in the context of the decline of the Austro Hungarian 
and the Ottoman Empire   

D) Meiji Restoration marked the beginning of industrialization and westernization 
in Japan
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22. ¤ßÁ¸® J¨£¢u[PÎÀ Gx I÷µõ¨£õÂß Áøµ£hzøu «sk® Áøµ¯ÂÀø» ?

A) Â¯ßÚõ J¨£¢u®   B) öÁº\õ´Àì J¨£¢u® 

C) öÁìm£õ¼¯õ J¨£¢u® d) ÷»õPõº÷Úõ J¨£¢u®

23. ¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zuÄ®. 
i. ÁÈPõmh¨£mh áÚ|õ¯P® a. USA
ii. •Ø÷£õUS C¯UP® b. ¦Põ›ß
iii. Põ»ÛzxÁ }UP®  c. _Pº÷Úõ
iv. íûU QÍºa]  d. ¤¼¨ø£ßì

A) i-d, ii-b, iii-d, iv-c   B) i-c, ii-a, iii-b, iv-d 

C) i-a, ii-b, iii-c, iv-d   d) i-c, ii-a, iii-d, iv-b

24. B¨¤›UP JØÖø© Aø©¨¤ß ÷|õUP®

A) B¨¤›UP Pshzv¼¸¢x Põ»ÛzxÁzøu JÈzuÀ

B) B¨¤›UP |õkPÐUS Cøh°»õÚ GÀø» ÷©õuÀPøÍz wºzuÀ 

C) B¨¤›UP ©UPÎøh÷¯ ö£õ¸Íõuõµ ©ØÖ® \‰P JzxøÇ¨ø£ FUSÂzuÀ

d) ÷©ØTÔ¯ AøÚzx®

25. ÷u]¯zøu PØ£øÚ ö\´ÁvÀ Aa_ FhP[PÎß £[øP ¯õº £S¨£õ´Ä ö\´uÁº 
¯õº ?

A) ö£º› Bshº\ß  B) ö£ÚiUm Bshº\ß 

C) ÂUhº RºÚß  d) ÁõÀhº ÷£÷Píõm

26. ÷¯õ® Q¨§º ÷£õº CuØPõP |hzu¨£mhx

A) Cì÷µ¼hª¸¢x CÇ¢u ¤µ÷u\[PøÍ «möhk¨£uØPõP

B) `¯ì PõÀÁõø¯ vÓ¢x AÝ©vUP

C) ö»£Úõß ¤µ÷u\[PøÍ BUQµªUP

d) £õ»ìwÚ Âkuø» C¯UPzøu (PlO) AÈUP

27. G¢uU TØÖ Esø©¯À» Gß£øuU PshÔ¯Ä®.

A) GvºPõ» ÷©õuø»z uÂºUP USAÂØS® USSR US Cøh°À ÷|µi öuõhº¦ 
ÁÈ {ÖÁ¨£mhuß ‰»® Q³£õ HÄPøn ö|¸UPi •iÄUS Á¢ux

B) 19 B® ¡ØÓõsiß ¤Ø£Sv°À ]¯õ® J¸ ¤öµg_ Põ»Û¯õP C¸¢ux

C) Bìv›¯&í[÷P›¯ ©ØÖ® Jm÷hõ©õß ÷£µµ]ß ÃÌa]°ß ¤ßÚo°À 
E¸ÁõUP¨£mhx £õÀPß ÷u]¯Áõu®  

d) ö©´â ©Ö^µø©¨¦ á¨£õÛÀ öuõÈÀ©¯©õUPÀ ©ØÖ® ÷©ØPzv¯ 
©¯©õUP¼ß öuõhUPzøuU SÔzux
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28. Whose name is associated with the study of capitalism ?

A) Edward Gibbon   B) maurice dobb 

C) R. G. Collingwood    d) Johan Huizinga

29. Choose the correct chronological order for the following matters.

i. monroe doctrine ii. Concert of Europe

iii. Zollverein iv. young Italy

A) i, ii, iii, iv B) ii, iii, i, iv  C) ii, i, iv, iii d) iii, i, iv, ii

30.  match the following.

i. Alexander Gerschenkron a. Core, periphery, semi-periphery states

ii. Immanuel Wallerstein b. Analysis of economic backwardness

iii. Eric Hobsbawm c. History-at-a-distance

iv. Fernand Braudel d. Real socialism 

A) i-b, ii-a, iii-d, iv-c   B) i-c, ii-a, iii-d, iv-b 

C) i-d, ii-a, iii-b, iv-c   d) i-a, ii-b, iii-c, iv-d

31. Find out the correct arrangement of the following journals in the order of their editors 
given below.

i. P. S. Varier ii. moorkoth Sreenivasan 

iii. Kumaranasaan iv. makthi Thangal 

A) i – Vivekodayam, ii – Dhanvanthari, iii –  Vajrasoochi, iv –  Paropakari

B) i – Paropakari, ii – Vajrasoochi, iii – Dhanvanthari, iv – Vivekodayam

C) i – Dhanvanthari, ii – Vajrasoochi, iii – Vivekodayam, iv –  Paropakari

D) i – Vajrasoochi, ii – Paropakari, iii – Dhanvanthari, iv – Vivekodayam

32. Give the name of the musical instrument which is used in Soapanasangeetham ?

A) Thudi B) Chenda C) Veena d) Idayka

33. Koimpidaran (Koyimpada Nair) is the character of which ritualistic art form ?

A) Ninabali B) mudiyattu C) Chimmanakkali d) Pateni

34. Which one of the following is not an ayurvedic text ?

A) mukundamaala   B) mathangaleela

C) Aalathur manipravaalam d) yogamritham
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28. ¯õ¸øh¯ ö£¯º •u»õÎzxÁ B´Ähß öuõhº¦øh¯x ?

A) GmÁºm Q¨£ß  B) ö©õ›ì ÷hõ¨ 

C) R. G. ÷Põ¼[Äm  d) ÷áõíß íû´ê[Põ

29. ¤ßÁ¸® Âå¯[PÐUS \›¯õÚ Põ»Á›ø\ ÷uºÄ ö\´P.

i. ©ß÷µõ ÷Põm£õk ii. I÷µõ¨£õÂß Cø\ {PÌa]

iii. ÷áõÀöÁ›ß iv. ¯[ Czuõ¼

A) i, ii, iii, iv B) ii, iii, i, iv  C) ii, i, iv, iii d) iii, i, iv, ii

30.  ¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zuÄ®.
i. Aö»U\õshº öPºöåßUµõß a. ø©¯, _ØÓÍÄ, Aøµ _ØÓÍÄ {ø»PÒ

ii. C®©õÝ÷ÁÀÁõ»ºìjß b. ö£õ¸Íõuõµ ¤ßu[Q¯ {ø»°ß  
 £S¨£õ´Ä

iii. G›U íõ¨ì£õ® c. îìh›&Am&A&iìhßì

iv. Lö£ºÚõsm ¨µõöhÀ d. Esø©¯õÚ ÷\õ\¼\®

A) i-b, ii-a, iii-d, iv-c   B) i-c, ii-a, iii-d, iv-b 

C) i-d, ii-a, iii-b, iv-c   d) i-a, ii-b, iii-c, iv-d

31. R÷Ç öPõkUP¨£mkÒÍ £zv›øPPøÍ, AÁØÔß B]›¯ºPÎß Á›ø\°À 
\›¯õP SÔ¨¤hÄ®.

i. P. S. Áõ›¯º ii. ‰º÷Põz ÿÛÁõ\ß 

iii. S©µÚõ\ß iv. ©Uv u[PÀ

A) i – Â÷Á÷Põu¯®, ii – ußÁ¢v›, iii –  Áäµ`], iv –  £÷µõ£Põ›

B) i – £÷µõ£Põ›, ii – Áäµ`], iii – ußÁ¢v›, iv – Â÷Á÷Põu¯®

C) i – ußÁ¢v›,  ii – Áäµ`], iii – Â÷Á÷Põu¯®, iv – £÷µõ£õPõ›

d) i – Áäµ`], ii – £÷µõ£õPõ›, iii – ußÁ¢v›, iv – Â÷Á÷Põu¯®

32. ÷\õ£Ú\[RuzvÀ £¯ß£kzu¨£k® Cø\UP¸Â°ß ö£¯øµU SÔ¨¤hÄ®

A) xi B) ö\søh C) Ãøn d) CøhUPõ

33. ÷Põ°®¤hõµß (÷Põ°®£h |õ¯º) £õzvµ® G¢u \h[S Pø» ÁiÁ®?

A)  {Úõ£¼ B) •i¯õmk C) ]®©ÚUPõÎ d) £÷hÛ

34. ¤ßÁ¸ÁÚÁØÔÀ Gx B²º÷Áu ¦zuP® AÀ» ?

A) •S¢u©õ»õ   B) ©u[P½»õ

C) B»zyº ©o¨¤µÁõÍ® d) ÷¯õPõªºu® 
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35. The heroic character, Chengannuraathi belongs to which narrative tradition of  
Kerala ?

A) Vadakkan Pattu   B) Thekkan Pattu 

C) Idanaadan Pattu   d) Thottam Pattu 

36. Find out the correct chronological order of the following novels.

A) Oru vazhiyum kure nizhalukalum, Agnisakshi, Alahayude Penmakkal, Aaraachaar

B) Aaraachaar, Alahayude Penmakkal, Oru vazhiyum kure nizhalukalum, Agnisakshi

C) Alahayude Penmakkal, Aaraachaar, Agnisakshi, Oru vazhiyum kure nizhalukalum

d) Agnisakshi, Oru vazhiyum kure nizhalukalum, Alahayude Penmakkal, Aaraachaar 

37. The four languages of the dakshin dravida branch are 

i. Tamil, Kannada, Gondi, malayalam 

ii. Tamil, Kannada, Tulu, malayalam

iii. Tamil, Kannada, Toda, malayalam 

iv. Tamil, Kannada, malto, malayalam

A) ii is correct   B) i and iv are correct 

C) i and ii are correct   d) ii and iii are correct

38. Who discovered the Edakkal caves and its Rock art in Wayanad ? 

A) Robert Bruce Foote   B) Babington 

C) Fawcett   d) William logan

39. Which place is known for Bharateshwara Temple in Kerala ?

A) Atingal   B) Irinjalakuda 

C) Thirunelli   d) Payyanur

40. Which one of the following is the musical and dance performance of the Adiya 
community in connection with agrarian practices/jobs ?

A) Kambala dance   B) Gaddika

C) Eruthunritham   d) mankoothu Vilayattam

41. Which among the following province secured highest representation in the Constituent 
Assembly of India as on 31st december 1947 ?

A) madras B) Bihar C) West Bengal d) Bombay

42. Which among the following item is included in concurrent list of Indian Constitution ?

A) United Nations Organization B) Fisheries

C) Foreign loans   d) Economic and Social Planning
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35. Ãµ Sn® ö\[Psqµõzv ÷PµÍõÂß G¢u Pøu £õµ®£›¯zøua ÷\º¢ux?

A) ÁhUPß £õmk  B) öuUPß £õmk 

C) Ch|õhß £õmk  d) ÷uõmh® £õmk 

36. ¤ßÁ¸® |õÁÀPÎß \›¯õÚ Põ»Á›ø\ø¯U PshÔ¯Ä®.

A) J¸ ÁÈ²® S÷Ó {Ç¾PÐ®, AUÛ\õò, AÇPõ²÷h ö£s©UPÒ, Bµõa\õº

B) Bµõa\õº, AÇPõ²÷h ö£s©UPÒ, J¸ ÁÈ²® S÷Ó {Ç¾PÐ®, AUÛ\õò

C) AÇPõ²÷h ö£s©UPÒ, Bµõa\õº, AUÛ\õò, J¸ ÁÈ²® S÷Ó {Ç¾PÐ®

d) AUÛ\õò, J¸ ÁÈ²® S÷Ó {Ç¾PÐ®, AÇPõ²÷h ö£s©UPÒ, Bµõa\õº 

37. um]s vµõÂhU QøÍ°ß |õßS ö©õÈPÒ 
i. uªÌ, PßÚh®, ÷Põsi, ©ø»¯õÍ® 
ii. uªÌ, PßÚh®, xÐ, ©ø»¯õÍ® 
iii. uªÌ, PßÚh®, ÷uõhõ, ©ø»¯õÍ®  
iv. uªÌ, PßÚh®, ©õÀ÷hõ, ©ø»¯õÍ®

A) ii \›  B) i ©ØÖ® iv \›¯õÚøÁ 

C) i ©ØÖ® ii \›¯õÚøÁ  d) ii ©ØÖ® iii \›¯õÚøÁ

38. Á¯|õmiÀ GhUPÀ SøPPøÍ²® Auß £õøÓU Pø»ø¯²® Psk¤izuÁº 
¯õº?

A) µõ£ºm ¦¹ì L§m  B) ÷£¤[hß 

C) L£õö\m  d) ÂÀ¼¯® ÷»õPß

39. ÷PµÍõÂÀ EÒÍ £µ÷uìÁµõ ÷Põ°¾US ö£¯º ö£ØÓ Ch® Gx?

A) Bmi[PÀ  B) C›g\õ»UShõ 

C) v¸ö|À¼  d) ø£¯Þº

40. ÂÁ\õ¯ |øh•øÓPÒ/÷Áø»PÒ öuõhº£õP Ai¯õ \‰Pzvß Cø\ ©ØÖ® 
|hÚ {PÌa]PÎÀ JßÖ

A) P®£Íõ |hÚ®   B) PzvPõ

C) G¸xß›u®  d) ©sTzx ÂøÍ¯õmh®

41. ¤ßÁ¸® ©õPõn[PÎÀ Gx i\®£º 31, 1947 AßÖ C¢v¯ Aµ]¯»ø©¨¦
\ø£°À AvP ¤µv{vzxÁzøu¨ ö£ØÓx.

A) ö©mµõì B) ¥Põº C) ÷©ØS Á[PõÍ® d) £®£õ´

42. ¤ßÁ¸ÁÚÁØÔÀ Gx C¢v¯ Aµ]¯»ø©¨¤ß PßPµßm £mi¯¼À ÷\ºUP¨ 
£mkÒÍx ?

A) IUQ¯ |õkPÒ Aø©¨¦ B) «ßÁÍ®

C) öÁÎ|õmk PhßPÒ  d) ö£õ¸Íõuõµ ©ØÖ® \‰P vmhªhÀ



64/25 – t 

a -16- 

43. Identify the wrong statement with regard to the Power of President of India.

A) Power to appoint ministers

B) Power to Pardon cases of Court martial 

C) Absolute power to appoint Inferior Officers 

d) Power to Summon Parliament

44.  Who among the following has right of audience in all courts of India ?

A) Advocate General   B) Attorney General of India

C) minister for law in India d) Speaker of lok Sabha

45.  Identify the right statement/s from the list given below.

1. With the proclamation of Art. 358 Article 19 will be automatically suspended.

2. With the proclamation of Art. 359 Article 19 will be automatically suspended.

3. The constitutionality of a declaration of emergency can be questioned in court.

4. Art. 360 has been used three times since independence.

A) 1 and 2 B) 1 and 3 C) 1, 2 and 3 d) 3 and 4

46. As per the Indian Constitution which is the mandatory population limit to constitute 
intermediate levels of Panchayat Raj Institutions ?

A) Above 10 lakhs  B) Above 15 lakhs 

C) Above 20 lakhs   d) Above 25 lakhs

47. Who is appointed as the leader of the House in Rajya Sabha ?
A) The leader of opposition party

B) Prime Minister or a Minister, who is a member of Rajya Sabha nominated by 
the Prime minister 

C) A senior member nominated by the Chairman of the house 

D) A member of the house elected by majority of the house

48. The Inter-State council is appointed by 
A) The President of India   B) The Parliament of India 

C) Supreme Court of India d) Prime minister of India

49. To strengthen e-Governance in Panchayati Raj Institutions (PRIs) the Ministry of 
Panchayati Raj (MoPR) launched _______________ a user-friendly web-based 
portal. 
A) e-GrameenSwaraj   B) e-Panchayat Portal 

C) e-Seva Portal  d) e-GramSwaraj
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43. C¢v¯ áÚõv£v°ß AvPõµ® öuõhº£õÚ uÁÓõÚ AÔUøPø¯ Aøh¯õÍ® 
PõnÄ®.

A) Aø©a\ºPøÍ {¯ªUS® AvPõµ®

B) CµõqÁ }v©ßÓ ÁÇUSPøÍ ©ßÛUS® AvPõµ® 
C) RÌ{ø» AvPõ›PøÍ {¯ªUP •Êø©¯õÚ AvPõµ® 
d) £õµõÐ©ßÓzøu Tmk® AvPõµ®

44.  ¤ßÁ¸ÁÚÁØÔÀ ¯õ¸US C¢v¯õÂß AøÚzx }v©ßÓ[PÎ¾® ÷PmS® 
E›ø© EÒÍx ?

A) AmÁ÷Pm öáÚµÀ  B) C¢v¯ AmhºÛ öáÚµÀ

C) C¢v¯õÂÀ \mh Aø©a\º d) ©UPÍøÁ \£õ|õ¯Pº

45.  R÷Ç öPõkUP¨£mkÒÍ £mi¯¼¼¸¢x \›¯õÚ AÔUøPPøÍ Aøh¯õÍ® 
PõnÄ®.
1. ¤›Ä 358 ¤µPhÚzxhß ¤›Ä 19 uõÚõP÷Á Cøh{Özu¨£k®.
2. ¤›Ä 359 ¤µPhÚzxhß  ¤›Ä 19 uõÚõP÷Á Cøh{Özu¨£k®.
3. AÁ\µ{ø»¨ ¤µPhÚzvß Aµ]¯»ø©¨¦a \mh¨§ºÁz ußø©ø¯  

}v©ßÓzvÀ ÷PÒÂ ÷PmP»õ®.
4. _u¢vµzvØS¨ ¤ÓS ¤›Ä 360 ‰ßÖ •øÓ £¯ß£kzu¨£mkÒÍx.

A) 1 ©ØÖ® 2 B) 1 ©ØÖ® 3 C) 1, 2 ©ØÖ® 3 d) 3 ©ØÖ® 4

46. C¢v¯ Aµ]¯»ø©¨¤ß£i £g\õ¯zx µõä {ÖÁÚ[PÎß Cøh{ø» 
{ø»PøÍ E¸ÁõUSÁuØPõÚ Pmhõ¯ ©UPÒ öuõøP Áµ®¦ Gx?

A) 10 »m\zvØS ÷©À   B) 15 »m\zvØS ÷©À 

C) 20 »m\zvØS ÷©À   d) 25 »m\zvØS ÷©À

47. ©õ{»[PÍøÁ°À AøÁz uø»ÁµõP ¯õº {¯ªUP¨£kQÓõºPÒ ?
A) GvºUPm]z uø»Áº
B) ¤µu©µõÀ £›¢xøµUP¨£mh ©õ{»[PÍøÁ EÖ¨¤ÚµõP C¸US® ¤µu©º 

AÀ»x Aø©a\º 
C) AøÁz uø»ÁµõÀ £›¢xøµUP¨£mh ‰zu EÖ¨¤Úº 
d) ö£¸®£õßø©¯õÀ AÀ»x AøÁ°ß ‰»® ÷uº¢öukUP¨£mh AøÁ 

EÖ¨¤Úº 

48. ©õ{»[PÐUS Cøh÷¯¯õÚ PÄß]À CÁµõÀ {¯ªUP¨£kQÓx
A) C¢v¯U Si¯µ_z uø»Áº  B) C¢v¯ |õhõÐ©ßÓ® 
C) C¢v¯ Ea\ }v©ßÓ® d) C¢v¯¨ ¤µu©º

49. £g\õ¯zx µõä {ÖÁÚ[PÎÀ (PRI) ªß&BÐøPø¯ Á¾¨£kzu £g\õ¯zx µõä 
Aø©a\P®  (MoPR) _________ £¯Úº |m¦ Áø» Ai¨£øh°»õÚ ÷£õºmhø» 
AÔ•P¨£kzv¯x. 
A) CQµõ«ßìÁµõä  B) C£g\õ¯zx ÷£õºhÀ 
C) C÷\Áõ ÷£õºhÀ   d) CQµõ©ìÁµõä
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50. As per Section 7 (1) of the RTI Act, 2005, the information sought concerns the life 
or liberty of a person, it shall be supplied within 

A) 15 days B) 30 days C) 36 hours d) 48 hours

51. Consider the given four statements and choose the correct answer from the 
given options. (Under mahatma Gandhi National Rural Employment Guarantee 
Scheme)
1. Gives the Gram Sabha the right to Social Audit of all works and expenditures.
2. The Barefoot Technician (BFT) Project was launched in 2010-2011.
3. Project ‘UNNATI’, a skilling project intends to upgrade the skill base of the  

MGNREGA beneficiaries.
4. Cluster Facilitation Project was launched in 2014 with the objective to  

provide SC/ST people the livelihood under mGNREGA.

A) Only 1 and 2   B) Only 2 and 3 

C) Only 1 and 3   d) Only 3 and 4

52. match lits – I with list – II and choose the correct answer from the given options.

List – I  List – II

 (e-governance Initiatives of (Initiated/Launched in the Year)

 central Government)
a. E-Biz 1. 2013
b. MeghRaj 2. 2022
c. diksha 3. 2017
d. meri Pehchaan 4. 2014
A) a-1, b-2, c-3, d-4   B) a-1, b-4, c-3, d-2 
C) a-2, b-3, c-4, d-1   d) a-4, b-2, c-3, d-1

53. Which one of the following conventions that India has ratified/party to ?

A) UN Convention on Status of Refugee (1951)

B) IlO Convention on Violence and Harassment Convention (2019) 

C) UN Convention on law of Sea (1982) 

d) IlO Convention on Night Work Convention (1990)

54. Arrange the following in chronological order.
(Summits/meeting hosted by India 2021-2024) 

1. BImSTEC Business Summit 

2. BRICS Summit

3. First India-Central Asia Summit 

4. SCO Summit

A) 2, 3, 4, 1 B) 1, 4, 3, 2 C) 3, 2, 4, 1 d) 4, 3, 2, 1
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50. RTI \mh®, 2005, ¤›Ä 7 (1) Cß £i, ÷Põµ¨£k® uPÁÀ J¸ |£›ß ÁõÌUøP 
AÀ»x _u¢vµzøu¨ £ØÔ¯x, Ax _________ USÒ ÁÇ[P¨£h ÷Ásk®. 

A) 15 |õmPÒ B) 30 |õmPÒ C) 36 ©o ÷|µ® d) 48 ©o ÷|µ®

51. öPõkUP¨£mh |õßS AÔUøPPøÍ²® P¸zvÀ öPõsk öPõkUP¨£mh 
Â¸¨£[PÎ¼¸¢x \›¯õÚ £vø»z ÷uºÄ ö\´¯Ä®. (©Põz©õ Põ¢v ÷u]¯ 
Qµõ©¨¦Ó ÷Áø»Áõ´¨¦ EzuµÁõuz vmhzvß RÌ)
1. AøÚzx ÷Áø»PÒ ©ØÖ® ö\»ÂÚ[PÎß \‰P uoUøPUPõÚ E›ø©ø¯ 

Qµõ© \ø£US ÁÇ[SQÓx.
2. öÁÖ[Põ¾hß Ti¯ öuõÈÀ~m£ ÁÀ¾|º (BFT) vmh® 2010-2011 CÀ 

öuõh[P¨£mhx.
3. mGNREGA £¯ÚõÎPÎß vÓß uÍzøu ÷©®£kzx® J¸ vÓß vmh©õÚ  

‘UNNATI’vmh®.
4. mGNREGA Cß RÌ SC/ST ©UPÐUS ÁõÌÁõuõµzøu ÁÇ[S® ÷|õUPzxhß 

QÍìhº Á\v vmh® 2014 CÀ öuõh[P¨£mhx.

A) 1 ©ØÖ® 2 ©mk®  B) 2 ©ØÖ® 3 ©mk® 

C) 1 ©ØÖ® 3 ©mk®  d) 3 ©ØÖ® 4 ©mk® 

52. £mi¯À – I £mi¯À – II I Ehß ö£õ¸zv, öPõkUP¨£mh Â¸¨£[PÎ¼¸¢x 
\›¯õÚ £vø»z ÷uºÄ ö\´¯Ä®.

  £mi¯À – I   £mi¯À – II
 (©zv¯ Aµ]ß CBÐø© •¯Ø]PÒ ) (öuõh[P¨£mh/öuõh[P¨£mh Bsk)
a. C-¤ì  1. 2013
b. ÷©Uµõä  2. 2022
c. wñõ  3. 2017
d. ö©›ö£ð\õß 4. 2014
A) a-1, b-2, c-3, d-4   B) a-1, b-4, c-3, d-2 
C) a-2, b-3, c-4, d-1   d) a-4, b-2, c-3, d-1

53. ¤ßÁ¸® G¢u J¨£¢uzøu C¢v¯õ A[RP›zxÒÍx/Pm] ö\´xÒÍx?
A) APvPÎß {ø» SÔzu I.|õ. ©õ|õk, (1951)
B) Áß•øÓ ©ØÖ® AÁ©v¨¦ öuõhº£õÚ I.GÀ.K. ©õ|õk, (2019) 
C) PhÀ \mh® öuõhº£õÚ I.|õ. ©õ|õk, (1982) 
d) CµÄ ÷Áø» öuõhº£õÚ I.GÀ.K. ©õ|õk, (1990)

54. ¤ßÁ¸ÁÚÁØøÓ Põ»Á›ø\¨ £i JÊ[S£kzx[PÒ.

(C¢v¯õ 2021-2024 CÀ |hzv¯ Ea]©õ|õkPÒ/Tmh®) 
1. BImSTEC ÁoP Ea] ©õ|õk 
2. BRICS Ea] ©õ|õk
3. •uÀ C¢v¯õ&©zv¯ B]¯õ Ea] ©õ|õk 
4. SCO Ea] ©õ|õk

A) 2, 3, 4, 1 B) 1, 4, 3, 2 C) 3, 2, 4, 1 d) 4, 3, 2, 1
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55. Consider the given four statements and choose the correct answer from the given 
options.
Which are the divisions in ministry of External Affairs, Government of India ?
1. G-7 2. Indo-Pacific 3. South Asia 4. Eurasia 

A) Only 1 and 2   B) Only 2 and 4 

C) Only 1 and 3   d) Only 3 and 4

56.  match list – I with list – II and choose the correct answer from the given options.
    List – I List – II

          (arms control Group/convention) (India)  

a. UN Convention against Corruption 1. Joined in 2018

b. Missile Technology Control Regime (MTCR) 2. Ratified in 2011

c. Conventions on Rights of Persons with disabilities 3. Joined in 2016

d. Australia Group (AG) 4. Ratified in 2007 

A) a-2, b-3, c-4, d-1   B) a-1, b-2, c-3, d-4

C) a-3, b-1, c-2, d-4   d) a-2, b-4, c-3, d-1

57. Consider the following tribunals :

1. land Tribunal

2. Administrative Tribunal

3. Industrial Tribunal
Which one of the following is correct with respect to the above ?

A) All these tribunals take its origin from Art. 323A of the Constitution 

B) All these tribunals are created under a single legislation

C) Administrative tribunals are specialized tribunals but all specialized tribunals are 
not administrative tribunals   

d) Both A) and B)

58. Which one of the following is true ? 

A) Election Commission is a constitutional body with quasi judicial power

B) NITI Aayog is a statutory regulatory body

C) National Women’s Commission is a statutory body

d) Both A) and C)

59. Which of the following is gender neutral legislation ? 

A) Protection of Children from Sexual Offences Act, 2012

B) Protection of Women from domestic Violence Act, 2005

C) Sexual Harassment of Women at Workplace (Prevention, Prohibition and 
Redressal) Act, 2013

d) None of the above
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55. öPõkUP¨£mh |õßS AÔUøPPøÍ²® P¸zvÀ öPõsk öPõkUP¨£mh 
Â¸¨£[PÎ¼¸¢x \›¯õÚ £vø»z ÷uºÄ ö\´¯Ä®.

  C¢v¯ Aµ]ß öÁÎ²ÓÄ Aø©a\PzvÀ EÒÍ ¤›ÄPÒ ¯õøÁ ?
1. G-7 2. C¢÷uõ&£]¤U 3. öuØPõ]¯õ 4. ³÷µ]¯õ  
A) 1 ©ØÖ® 2 ©mk®  B) 2 ©ØÖ® 4 ©mk® 
C) 1 ©ØÖ® 3 ©mk®  d) 3 ©ØÖ® 4 ©mk®

56.  £mi¯À – I I £mi¯À – II Ehß ö£õ¸zv, öPõkUP¨£mh Â¸¨£[PÎ¼¸¢x 
\›¯õÚ £vø»z ÷uºÄ ö\´¯Ä®.

  £mi¯À – I £mi¯À – II
 (B²uU Pmk¨£õmkU SÊ/©õ|õk) (C¢v¯õ)  

a. FÇ¾US GvµõÚ I.|õ. ©õ|õk 1. 2018 CÀ Cøn¢ux
b. HÄPøn öuõÈÀ~m£U 2. 2011 CÀ A[RP›UP¨£mhx

 Pmk¨£õmk Bm] (mTCR)  
c. ©õØÖzvÓÚõÎPÎß E›ø©PÒ 3. 2016 CÀ Cøn¢ux

 öuõhº£õÚ ©õ|õkPÒ
d. Bìv÷µ¼¯õ SÊ (AG) 4. 2007 CÀ A[RP›UP¨£mhx 
A) a-2, b-3, c-4, d-1   B) a-1, b-2, c-3, d-4
C) a-3, b-1, c-2, d-4   d) a-2, b-4, c-3, d-1

57. ¤ßÁ¸® wº¨£õ¯[PøÍU PÁÛ²[PÒ.
1. {» wº¨£õ¯®
2. {ºÁõP wº¨£õ¯®
3. öuõÈÀxøÓ wº¨£õ¯®

  ÷©ØPshÁØÖhß öuõhº¦øh¯ Gx \›¯õÚx?

A) C¢u wº¨£õ¯[PÒ AøÚzx® Aµ]¯»ø©¨¤ß ¤›Ä 323A C¼¸¢x 
÷uõßÔÚ  

B) C¢u wº¨£õ¯[PÒ AøÚzx® J÷µ \mhzvß RÌ E¸ÁõUP¨£mhøÁ

C) {ºÁõP wº¨£õ¯[PÒ ]Ó¨¦ wº¨£õ¯[PÒ BÚõÀ AøÚzx ]Ó¨¦ wº¨£õ¯[PÐ® 
{ºÁõP wº¨£õ¯[PÒ AÀ»   

d) A) ©ØÖ® B) Cµsk®

58. ¤ßÁ¸ÁÚÁØÔÀ Gx Esø©? 
A) ÷uºuÀ Bøn¯® Gß£x Aøµ }vzxøÓ AvPõµ® öPõsh J¸ 

Aµ]¯»ø©¨¦ Aø©¨£õS®
B) {v B÷¯õU J¸ \mh¨§ºÁ JÊ[S•øÓ Aø©¨£õS®
C) ÷u]¯ ©PÎº Bøn¯® J¸ \mh¨§ºÁ Aø©¨£õS®

d) A) ©ØÖ® C) Cµsk®

59. ¤ßÁ¸ÁÚÁØÔÀ Gx £õ¼Ú |k{ø» \mh®? 
A) £õ¼¯À SØÓ[PÎ¼¸¢x SÇ¢øuPøÍ¨ £õxPõUS® \mh®, 2012
B) Sk®£ Áß•øÓ°¼¸¢x ö£sPøÍ¨ £õxPõUS® \mh®, 2005

C) £o°hzvÀ ö£sPÒ «uõÚ £õ¼¯À xß¦ÖzuÀ (uk¨¦, uøh ©ØÖ® wºÄ)
\mh®, 2013

d) ÷©ØTÔ¯øÁ GxÄªÀø»
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60. Consider the following :
1. Pre vaginum test or two finger test
2. Sexual harassment
3. Women as property of husband

Which of the following Statement is true with respect to the above factors ? 

A) This test conducted in rape and sexual assault cases is declared as unconstitutional 
by the Supreme Court

B) Sexual harassment is an offence under Bharatiya Nyaya Sanhitha 2023 and it 
deals only with workplace harassment 

C) Indian criminal law does not recognize women as the property of husband 

d) Both A) and C)

61.  Which of the following legislations is meant for SC/ST ?

A) Scheduled Caste and Scheduled Tribes (Prevention of Atrocities) Act, 1989

B) Forest Rights Act, 2006

C) Protection of Civil Rights Act, 1955

d) All the above 

62. Which of the following statements is/are true with respect to Constitutional Amendments ? 

A) Constitutional Amendments are made by virtue of constituent power

B) Constitutional Amendments are made by virtue of power under Art. 368 of the 
Constitution

C) Constitutional Amendments are not law under Art. 13 of the Constitution 

d) All the above

63. Consider the statements :
1. Judicial review power could be exercised only by Supreme Court and High Courts.
2. Judicial review has its basis in Art. 32 and Art. 226 of the Constitution.
3. Judicial activism is a form of judicial review.

Analyse the above statements and find out which of the following correlations is false 
with respect to public interest litigation. 

A) Public interest litigation is the product of judicial activism

B) Public interest litigations are filed before HCs and Supreme Court 

C) Public interest litigation could be filed by any person irrespective of his interest in it

d) Only A) and C)
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60. ¤ßÁ¸ÁÚÁØøÓU PÁÛ²[PÒ.
1. ÷¯õÛUSÒ ÷\õuøÚ AÀ»x Cµsk ÂµÀ ÷\õuøÚ
2. £õ¼¯À xß¦ÖzuÀ
3. ö£sPÒ PnÁ›ß ö\õzx

  ÷©ØPsh PõµoPøÍ¨ ö£õÖzuÁøµ ¤ßÁ¸® TØÖPÎÀ Gx Esø© ? 
A) £õ¼¯À ÁßöPõkø© ©ØÖ® £õ¼¯À ÁßöPõkø© ÁÇUSPÎÀ |hzu¨£k® 

C¢u ÷\õuøÚ Ea\ }v©ßÓzuõÀ Aµ]¯»ø©¨¤ØS •µnõÚx GßÖ 
AÔÂUP¨£mkÒÍx.

B) £õ¼¯À xß¦ÖzuÀ £õµv¯ {¯õ¯ \ßîuõ 2023 Cß RÌ J¸ SØÓ©õS®, 
÷©¾® Cx £o°h xß¦Özuø» ©mk÷© øP¯õÒQÓx. 

C) C¢v¯ SØÓÂ¯À \mh® ö£sPøÍ PnÁ›ß ö\õzuõP A[RP›UPÂÀø»

d) A) ©ØÖ® C) Cµsk®

61.  ¤ßÁ¸® \mh[PÎÀ Gx SC/STUPõP C¯ØÓ¨£mhx ?

A) £mi¯À \õv ©ØÖ® £mi¯À £Ç[Si°Úº (ÁßöPõkø©PøÍz ukUS®)
\mh®, 1989

B) ÁÚ E›ø©PÒ \mh®, 2006
C) ]ÂÀ E›ø©PÒ £õxPõ¨¦a \mh®, 1955
d) ÷©ØTÔ¯ AøÚzx® 

62. Aµ]¯»ø©¨¦z v¸zu[PÒ öuõhº£õP G¢u AÔUøPPÒ Esø© ? 
A) Aµ]¯»ø©¨¦z v¸zu[PÒ Aµ]¯»ø©¨¦ \mhzvß AvPõµzuõÀ 

ö\´¯¨£kQßÓÚ
B) Aµ]¯»ø©¨¦z v¸zu[PÒ Aµ]¯»ø©¨¤ß \mhzvß 368 Áx ¤›Âß RÌ 

AvPõµzvß |Ø£s£õÀ ö\´¯¨£kQßÓÚ
C) Aµ]¯»ø©¨¦z v¸zu[PÒ Aµ]¯»ø©¨¤ß ¤›Ä 13ß RÌ \mh® AÀ»
d) ÷©ØTÔ¯ AøÚzx®

63. AÔUøPPøÍU PÁÛ²[PÒ. 
1. }vzxøÓ ©ÖB´Ä AvPõµzøu Ea\ }v©ßÓ® ©ØÖ® E¯º }v©ßÓ[PÒ 

©mk÷© £¯ß£kzu •i²®.
2. }vzxøÓ ©ÖB´Ä Auß Ai¨£øhø¯ Aµ]¯»ø©¨¤ß ¤›Ä 32 ©ØÖ® 

¤›Ä 226 CÀ öPõskÒÍx.
3. }vzxøÓ ö\¯À£õk Gß£x }vzxøÓ ©ÖB´Âß J¸ ÁiÁ®.

  ÷©ØPsh AÔUøPPøÍ £S¨£õ´Ä ö\´x, ö£õx |» ÁÇUSPÒ öuõhº£õP 
¤ßÁ¸® öuõhº¦PÎÀ Gx uÁÓõÚx Gß£øuU PshÔ¯Ä®?

A) ö£õx |» ÁÇUSPÒ }vzxøÓ ö\¯À£õmiß ÂøÍÁõS®

B) ö£õx |» ÁÇUSPÒ E¯º}v©ßÓ[PÒ ©ØÖ® Ea\ }v©ßÓzvÀ uõUPÀ 
ö\´¯¨£kQßÓÚ 

C) G¢uöÁõ¸ |£¸® AvÀ AÁ¸US G¢u BºÁ® C¸¢uõ¾® ö£õx |» 
ÁÇUSPøÍ uõUPÀ ö\´¯»õ®.

d) A) ©ØÖ® C) ©mk®
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64. Which of the following statements is false with respect to emergency under the 
Constitution ? 
A) Emergency may be declared on account of failure of Constitutional machinery 

in a State.
B) during emergency, there is suspension of right to Constitutional Remedies with 

respect to enforcement of all fundamental rights.
C) Art. 360 of the Constitution talks about financial emergency.  
d) None of the above

65. Consider the following statements with regard to the fundamental rights :
i. The doctrine of waiver is inapplicable to fundamental rights as like in the  

USA Constitution.
ii. The Part-Ill of the Constitution contains the self executory and non-executory 

fundamental rights.
iii. The Supreme Court opined in menaka Gandhi case that the provisions in Part-Ill 

are not mutually exclusive and forms part of integrated whole.
iv. The nature of fundamental rights is absolute.
v. The President of India is authorized to suspend the fundamental rights during 

the period of emergency except Articles 20 and 21.
 In the above statements, which are correct ?

A) Only (i, iii and iv)   B) Only (i, ii and v) 

C) Only (ii, iii and v)   d) Only (ii, iv and v) 

66. assertion (a) : The Part-Ill and IV of the Constitution are considered as the 
conscience of the Constitution.

  reason (r) : The principles contained in the Part-IV are moral precepts and it can 
be enforceable by Art. 37 of the Constitution. 
Select the correct answer code.
A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) (A) is true but (R) is false
C) (A) is false but (R) is true
d) None of the above

67. assertion (a) : Though the people of this country differed in a number of ways, 
they all were proud to regard themselves as participants in a common heritage and 
composite culture.
reason (r) : The foundation of composite culture of India is the Sanskrit language 
and culture which is the great biding force in India.
Select the correct answer code.
A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) (A) is true but (R) is false
C) (A) is false but (R) is true
d) None of the above
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64. Aµ]¯»ø©¨¤ß RÌ AÁ\µ{ø» öuõhº£õP ¤ßÁ¸® TØÖPÎÀ Gx 
uÁÓõÚx? 
A) J¸ ©õ{»zvÀ Aµ]¯»ø©¨¦ C¯¢vµ® ÷uõÀÂ¯øh¢uuõÀ AÁ\µ{ø» 

AÔÂUP¨£h»õ®.
B) AÁ\µ{ø»°ß ÷£õx AøÚzx Ai¨£øh E›ø©PøÍ²® A©À£kzxÁx 

öuõhº£õP Aµ]¯»ø©¨¦ wºÄPÐUPõÚ E›ø© Cøh{Özu¨£kQÓx.
C) Aµ]¯»ø©¨¤ß ¤›Ä 360 {v AÁ\µ{ø» £ØÔ ÷£_QÓx.  
d) ÷©ØTÔ¯ÁØÔÀ GxÄªÀø»

65. Azv¯õ¯Á]¯ Ai¨£øh E›ø©PÒ öuõhº£õÚ ¤ßÁ¸® ¦ÒÎ ÂÁµ[PøÍU 
PÁÛ²[PÒ.

i. Aö©›UP Aµ]¯»ø©¨¤À EÒÍøu¨ ÷£õ» Aµ]¯»ø©¨¦ Ai¨£øh 
E›ø©PÐUS Â»US ÷Põm£õk ö£õ¸¢uõx.

ii. Aµ]¯»ø©¨¤ß £Sv -Ill _¯ öÁÎ±kPÒ ©ØÖ® {øÓ÷ÁØÓõu Ai¨£øh 
E›ø©PøÍ öPõskÒÍx.

iii. ÷©ÚPõ Põ¢v ÁÇUQÀ Ea\ }v©ßÓ® £Sv-Ill CÀ EÒÍ ÂvPÒ £µì£µ® 
Azv¯õ¯® ¤µzv÷¯P©õÚøÁ AÀ», J¸[Qøn¢u •Êø©°ß J¸ 
£Sv¯õS® GßÖ P¸zx öu›Âzux.

iv. Ai¨£øh E›ø©PÎß ußø© •Êø©¯õÚx.
v. AÁ\µPõ»a \mhzvß ÷£õx, ¤›ÄPÒ 20 ©ØÖ® 21 uÂµ, Aµ]¯»ø©¨¦ 

Ai¨£øh E›ø©PøÍ Cøh{Özu C¢v¯ áÚõv£vUS AvPõµ® Esk.
 ÷©ØPsh TØÖPÎÀ, Gx \›?

A) Only (i, iii and iv)   B) Only (i, ii and v) 
C) Only (ii, iii and v)   d) Only (ii, iv and v) 

66. TØÖ (a) : Aµ]¯»ø©¨¤ß £Sv-Ill ©ØÖ® IV Azv¯õ¯® Aµ]¯»ø©¨¤ß 
©Ú\õm]¯õPU P¸u¨£kQßÓÚ.

  Põµn®  (r) : £Sv---IV CÀ EÒÍ öPõÒøPPÒ uõº«PU PmhøÍPÒ ©ØÖ® 
AøÁ Aµ]¯»ø©¨¤ß ¤›Ä  37 BÀ ö\¯À£kzu¨£h»õ®. 

  \›¯õÚ Âøh SÔ±møhz ÷uº¢öukUPÄ®.
A) (A) ©ØÖ® (R) Cµsk® Esø© ©ØÖ®  (R) Gß£x (A) Cß \›¯õÚ ÂÍUP®
B) (A) Gß£x Esø© BÚõÀ (R) Gß£x uÁÖ
C) (A) Gß£x uÁÖ BÚõÀ (R) Gß£x Esø©
d) ÷©ØTÔ¯ÁØÔÀ GxÄªÀø»

67. TØÖ (a) : C¢u |õmk ©UPÒ £» ÁÈPÎÀ ÷ÁÖ£mi¸¢uõ¾®, AÁºPÒ AøÚÁ¸® 
J¸ ö£õxÁõÚ £õµ®£›¯® ©ØÖ® TmkP»õa\õµzvÀ £[÷PØ£õÍºPÒ GßÖ 
u[PøÍU P¸xÁvÀ ö£¸ø© öPõÒQÓõºPÒ.

Põµn® (r) : C¢v¯õÂß TmkP»õa\õµzvß AizuÍ® \©ìQ¸uö©õÈ ©ØÖ® 
P»õa\õµ® BS®, Cx C¢v¯õÂÀ ªP¨ö£›¯ ¤øn¨¦ \Uv¯õS®.

  \›¯õÚ Âøh SÔ±møhz ÷uº¢öukUPÄ®.

A) (A) ©ØÖ® (R) Cµsk® Esø© ©ØÖ® (R) Gß£x (A) Cß \›¯õÚ ÂÍUP®

B) (A) Gß£x Esø© BÚõÀ (R) Gß£x uÁÖ

C) (A) Gß£x uÁÖ BÚõÀ (R) Gß£x Esø©

d) ÷©ØTÔ¯ÁØÔÀ GxÄªÀø»
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68. match the following with using correct answer code.

Incorporated Fundamental Propounded in

rights in art. 21 

i. Right of elderly persons a. Ashwani Kumar V. Union of India 

ii. Right to publish a book b. meera Santhosh Pal V. Union of India

iii. Right to be forgotten   c. State of maharashtra V. Prabhakar Pandurang

   Sangzgir

iv. Right to abortion   d. Neekunj Todi V. Union of India 

A) i-a, ii-d, iii-c, iv-b   B) i-b, ii-c, iii-d, iv-a 

C) i-a, ii-c, iii-d, iv-b   d) i-b, ii-d, iii-c, iv-a

69. With reference to the principle of Rule of law, consider the following statements :
i. It is the supreme manifestation of human civilization and culture.
ii. It is an animation of the historical law.
iii. It mandates that power must be unaccountable, governance progressively just 

and equal. 
iv. It is based on the principles of freedom, equality, non-discrimination, fraternity, 

accountability and non-arbitrariness.
 Which of the statements given above are correct ?

A) Only (i and ii) B) Only (ii and iii) C) Only (ii and iv) d) Only (i and iv)

70. assertion (a) : droit Administratif does represent principles and rules laid down by 
the French Parliament.

  reason (r) : The principles and rules have been developed by the Judges of the 
Administrative Courts.
Select the correct answer code.

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

B) (A) is true but (R) is false

C) (A) is false but (R) is true

d) None of the above

71. 15 years ago, the mother’s age was twice the daughter’s age. If 3 years from now, the 
sum of their ages will be 99, what is the difference between their present ages ?

A) 19 years B) 21 years C) 23 years d) 25 years

72. In a society with 100 members, each member plays at least one sport amongst cricket, 
hockey and volleyball. If 20 members play cricket only, 30 play hockey only, 25 play 
volleyball only, 12 play both cricket and hockey, 7 play both hockey and volleyball and 
3 members play all the sports, then how many members play at least two sports ?

A) 25 B) 22 C) 32 d) 35
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68. ¤ßÁ¸ÁÚÁØøÓ \›¯õÚ £vÀ SÔ±møh¨ £¯ß£kzv ö£õ¸zuÄ®.

¤›Ä 21 CÀ Ai¨£øh E›ø©PÒ •ßö©õÈ¯¨£mhx

÷\ºUP¨£mkÒÍÚ 
i. •v÷¯õº E›ø©   a. AìÁÛ S©õº V. C¢v¯ JßÔ¯®
ii. ¦zuPzøu öÁÎ°k® E›ø© b. «µõ \¢÷uõè £õÀ V. C¢v¯ JßÔ¯®
iii. ©ÓUP¨£k® E›ø©   c. ©Põµõèiµõ ©õ{»® V. ¤µ£õPº 

   £õskµ[ \[ìQº
iv. P¸UPø»¨¦ E›ø©   d. }Sga ÷hõi V. C¢v¯ JßÔ¯® 
A) i-a, ii-d, iii-c, iv-b   B) i-b, ii-c, iii-d, iv-a 
C) i-a, ii-c, iii-d, iv-b   d) i-b, ii-d, iii-c, iv-a

69. \mhzvß Bm]°ß öPõÒøPø¯¨ ö£õÖzuÁøµ, ¤ßÁ¸® AÔUøPPøÍU 
PÁÛ²[PÒ.

i. Cx ©Ûu |õP›P® ©ØÖ® P»õa\õµzvß Ea\ öÁÎ¨£õhõS®.
ii. Cx Áµ»õØÖa \mhzvß J¸ AÛ÷©åß.
iii. AvPõµ® ö£õÖ¨£ØÓuõPÄ®, {ºÁõP® £i¨£i¯õP {¯õ¯©õPÄ® \©©õPÄ® 

C¸UP ÷Ásk® GßÖ Ax PmhøÍ°kQÓx. 
iv. Cx _u¢vµ®, \©zxÁ®, £õS£õk Põmhõø©, \÷PõuµzxÁ®, ö£õÖ¨¦UTÓÀ ©ØÖ® 

ußÛaø\¯ØÓ ußø© BQ¯ öPõÒøPPøÍ Ai¨£øh¯õPU öPõshx.
 ÷©÷» öPõkUP¨£mkÒÍ AÔUøPPÎÀ Gx \›¯õÚx?

A) Only (i and ii) B) Only (ii and iii) C) Only (ii and iv) d) Only (i and iv)

70. TØÖ (a) : iµõ´m AmªÛì÷µiL¨ ¤öµg_ |õhõÐ©ßÓzuõÀ ÁSUP¨£mh 
öPõÒøPPÒ ©ØÖ® ÂvPøÍU SÔUQÓx.

  Põµn® (r) : öPõÒøPPÒ ©ØÖ® ÂvPÒ {ºÁõP }v©ßÓ[PÎß }v£vPÍõÀ 
E¸ÁõUP¨£mkÒÍÚ.

  \›¯õÚ Âøh SÔ±møhz ÷uº¢öukUPÄ®.
A) (A) ©ØÖ® (R) Cµsk® Esø©, (R) Gß£x (A) Cß \›¯õÚ ÂÍUP®
B) (A) Esø©, BÚõÀ (R) uÁÖ
C) (A) uÁÖ, BÚõÀ (R) Esø©
d) ÷©ØTÔ¯ÁØÔÀ GxÄªÀø»

71. 15 BskPÐUS •ß¦, uõ°ß Á¯x ©PÎß Á¯øu Âh Cµsk ©h[S AvP©õP 
C¸¢ux. CßÔ¼¸¢x 3 BskPÐUS¨ ¤ÓS, AÁºPÎß Á¯xPÎß TmkzöuõøP 
99 BP C¸¢uõÀ, AÁºPÎß uØ÷£õøu¯ Á¯xPÐUS Cøh°»õÚ Âzv¯õ\® 
GßÚ?
A) 19 BskPÒ B) 21 BskPÒ C) 23 BskPÒ d) 25 BskPÒ

72. 100  EÖ¨¤ÚºPøÍU öPõsh J¸ \‰PzvÀ, JÆöÁõ¸ EÖ¨¤Ú¸® Q›UöPm, 
íõUQ ©ØÖ® øP¨£¢x BQ¯ÁØÔÀ SøÓ¢ux J¸ ÂøÍ¯õmøh¯õÁx 
ÂøÍ¯õkQÓõºPÒ. 20 EÖ¨¤ÚºPÒ Q›UöPm ©mk÷© ÂøÍ¯õkQÓõºPÒ, 30 ÷£º 
íõUQ ©mk÷© ÂøÍ¯õkQÓõºPÒ, 25 ÷£º Áõ¼£õÀ ©mk÷© ÂøÍ¯õkQÓõºPÒ, 
12 ÷£º Q›UöPm ©ØÖ® íõUQ Cµsøh²® ÂøÍ¯õkQÓõºPÒ, 7 ÷£º íõUQ ©ØÖ® 
øP¨£¢x Cµsøh²® ÂøÍ¯õkQÓõºPÒ, 3 ÷£º AøÚzx ÂøÍ¯õmkPøÍ²® 
ÂøÍ¯õkQÓõºPÒ GßÓõÀ, SøÓ¢ux Cµsk ÂøÍ¯õmkPøÍ GzuøÚ 
EÖ¨¤ÚºPÒ ÂøÍ¯õkQÓõºPÒ?
A) 25 B) 22 C) 32 d) 35
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73. In a certain language, ‘CLASS’ is coded as ‘UUCNE’. What is the code for ‘SECTION’ ?

A) PQKVGEU B) PQlVEGU C) PQVKGEU d) PQKVEGU

74. Suppose A + B means ‘A is the daughter of B’,

A ÷ B means ‘A is the mother of B’,

A × B means ‘A is the son of B’,

A – B means ‘A is the father of B’.

If P + Q – R × S ÷ T, then how is P related to T ?

A) P is the wife of T   B) P is the sister of T 

C) T is the grandmother of P d) T is the mother of P

75. x is a three-digit natural number such that the difference between the number and its 
reverse is 99. Then what is the difference between the digit at the hundred’s place 
and the digit at the unit’s place of x ?
A) 3 B) 0 C) 1 d) 2

76. An athlete running on a track falls short of the finish line by 20 m when she runs at a 
constant speed for a given time. If she increases her speed by 40%, she overshoots 
by 10 m in the same time. What is the length of the track ?

A) 85 m B) 90 m C) 95 m d) 100 m

77. The following Pie chart represents the vehicles used by office goers to reach their office.

   

What is the central angle corresponding to the office goers who use four-wheelers for 
their commute ?

A) 202.5° B) 203° C) 203.5° d) 204°
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73. J¸ SÔ¨¤mh ö©õÈ°À, ‘CLASS’ Gß£x ‘UUCNE’ GßÖ SÔ°h¨£kQÓx. 
‘SECTION’UPõÚ SÔ±k GßÚ?

A) PQKVGEU B) PQlVEGU C) PQVKGEU d) PQKVEGU

74. A + B Gß£x ‘A Gß£x B Cß ©PÒ’ GßÖ øÁzxUöPõÒ÷Áõ®,
A ÷ B Gß£x ‘A Gß£x B Cß uõ´’ GßÖ®,
A × B Gß£x ‘A Gß£x B Cß ©Pß’ GßÖ®,
A – B Gß£x ‘A Gß£x B Cß u¢øu’ GßÖ® øÁzxUöPõÒ÷Áõ®.
P + Q – R × S ÷ T GßÓõÀ, P Gß£x T Ehß GÆÁõÖ öuõhº¦øh¯x? 

A) P Gß£x T Cß ©øÚÂ B) P Gß£x T Cß \÷Põu› 
C) T Gß£x P Cß £õmi d) T Gß£x P Cß uõ´

75. x Gß£x ‰ßÖ C»UP C¯À Gs, AuõÁx A¢u GsqUS®  Auß uø»RÌ 
GsqUS® Cøh°»õÚ ÷ÁÖ£õk 99 BS®. GÛÀ,  ¡Ôß ChzvÀ EÒÍ 
C»UPzvØS® x Cß A»S ChzvÀ EÒÍ C»UPzvØS® GßÚ Âzv¯õ\®?

A) 3 B) 0 C) 1 d) 2

76. J¸ uhPÍ¨ £õøu°À Kk® J¸ uhPÍ Ãµº, J¸ SÔ¨¤mh ÷|µzvØS 
{ø»¯õÚ ÷ÁPzvÀ Kk®÷£õx, AÁº £¢u¯U ÷Põmi¼¸¢x 20 «mhº 
SøÓÁõP KkQÓõº. AÁº uÚx ÷ÁPzøu 40% AvP›zuõÀ, A÷u ÷|µzvÀ 
AÁº 10 «mhº AvP©õP KkQÓõº. £¢u¯® £õøu°ß }Í® GßÚ?
A) 85 m B) 90 m C) 95 m d) 100 m

77. A¾Á»PzvØSa ö\À£ÁºPÒ u[PÒ A¾Á»Pzøu Aøh¯¨ £¯ß£kzx® 
ÁõPÚ[PøÍ ¤ßÁ¸® ø£ ÂÍUP¨£h® SÔUQÓx.

   

  £¯nzvØS |õßS \UPµ ÁõPÚ[PøÍ¨ £¯ß£kzx® A¾Á»PzvØSa  
ö\À£ÁºPÐUS ø©¯U ÷Põn® GßÚ?

A) 202.5° B) 203° C) 203.5° d) 204°
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78. A hundred participants entered a Spell Bee Contest. Rounds were held with 2 participants 
competing against each other in every round. After each round, the loser of the round 
gets eliminated from the contest and the winner of the round continues in the game. If 
none of the rounds resulted in a tie/draw, how many rounds were played to decide the 
final winner ?
A) 100 B) 101 C) 98 d) 99

79. In the figure given below, AC is the diameter of the circle. If AB = 12 cm and BC = 5 cm, 
find the area of the shaded region.

    
A) 101.73 cm2 B) 102.73 cm2 C) 103.73 cm2 d) 104.73 cm2

80. The negation of the statement “Amit lives in delhi and Aman does not live in mumbai” is

A) Amit lives in delhi and Aman lives in mumbai

B) Amit does not live in delhi and Aman lives in mumbai

C) Amit does not live in delhi or Aman does not live in mumbai

d) Amit does not live in delhi or Aman lives in mumbai

81. The 100th common term between the series 3 + 5 + 7 + 9 + ... and 3 + 6 + 9 + 12 + ... is

A) 595 B) 597 C) 605 d) 607

82. Given that 15th march, 2025 is a Saturday, which date of march, 2050 among the 
following is a Sunday ?

A) 20 B) 21 C) 22 d) 23

83. What is the angle between the hour hand and the minute hand of a clock when the 
clock shows 10 hours 10 minutes ?

A) 240° B) 130° C) 245° d) 120°

84. If the rate of interest is 15%, then what is the difference between compound interest 
and simple interest received on Rs. 10,000 after 3 years from now ?

A) Rs. 295 B) Rs. 300 C) Rs. 305 d) Rs. 310

85. A shopkeeper sold a product at 10% loss. Had his selling price been Rs. 100 more, 
he would have made a profit of 10%. What was the cost price ?

A) Rs. 500 B) Rs. 600 C) Rs. 700 d) Rs. 800
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78. ¡Ö £[÷PØ£õÍºPÒ ìö£À ¥ ÷£õmi°À P»¢x öPõshnº. JÆöÁõ¸ _ØÔ¾®  
2 £[÷PØ£õÍºPÒ J¸Á¸UöPõ¸Áº GvµõP¨ ÷£õmi°k® _ØÖPÒ |hzu¨£mhÚ. 
JÆöÁõ¸ _ØÖUS¨ ¤ÓS®, _ØÔÀ ÷uõÀÂ¯øh¢uÁº ÷£õmi°À C¸¢x 
öÁÎ÷¯ØÓ¨£kÁõº, ÷©¾® _ØÔÀ öÁØÔ ö£ØÓÁº ÂøÍ¯õmiÀ öuõhºQÓõº. 
G¢ua _ØÖ® øh/iµõÂÀ •iÁøh¯ÂÀø» GßÓõÀ, CÖv öÁØÔ¯õÍøµz 
wº©õÛUP GzuøÚ _ØÖPÒ |hzu¨£mhÚ?
A) 100 B) 101 C) 98 d) 99

79. R÷Ç EÒÍ £hzvÀ, AC Gß£x Ámhzvß Âmh®.  AB = 12 cm ©ØÖ® BC = 5 cm, 
GÛÀ, {Ç»õi¯ £Sv°ß £µ¨£ÍøÁU PshÔ¯Ä®.

    
A) 101.73 cm2 B) 102.73 cm2 C) 103.73 cm2 d) 104.73 cm2

80. ‘‘Aªz öhÀ¼°À Á]UQÓõº, A©ß •®ø£°À Á]UPÂÀø»’’ GßÓ TØÔß 
©Ö¨¦
A) Aªz öhÀ¼°À Á]UQÓõº, A©ß •®ø£°À Á]UQÓõº
B) Aªz öhÀ¼°À Á]UPÂÀø», A©ß •®ø£°À Á]UQÓõº
C) Aªz öhÀ¼°À Á]UPÂÀø» AÀ»x A©ß •®ø£°À Á]UPÂÀø»
d) Aªz öhÀ¼°À Á]UPÂÀø» AÀ»x A©ß •®ø£°À Á]UQÓõº

81. öuõhº  3 + 5 + 7 + 9 + ... ©ØÖ® 3 + 6 + 9 + 12 + ... BQ¯ÁØÖUS Cøh÷¯¯õÚ 
100Áx ö£õx Gs

A) 595 B) 597 C) 605 d) 607

82. ©õºa 15, 2025 \ÛUQÇø© Gß£uõÀ, ©õºa 2050 CÀ G¢u ÷uv bõ°ØÖUQÇø© 
BS®?

A) 20 B) 21 C) 22 d) 23

83. PiPõµ® 10 ©o ÷|µ® 10 {ªh[PÒ Põmk®÷£õx, ©o •Ò ©ØÖ® {ªh 
•Ò Cøh÷¯ EÒÍ ÷Põn® GßÚ?

A) 240° B) 130° C) 245° d) 120°

84. Ámi ÂQu® 15% GßÓõÀ, 3 BskPÐUS¨ ¤ÓS ¹. 10,000-US TmkÁmiUS®, 
ö£Ó¨£k® GÎ¯ ÁmiUS® GßÚ Âzv¯õ\®?

A) ¹. 295 B) ¹. 300 C) ¹. 305 d) ¹. 310

85. J¸ PøhUPõµº J¸ ö£õ¸øÍ 10% |èhzvÀ ÂØÓõº. AÁµx ÂØ£øÚ Âø»  
¹. 100 AvP©õP C¸¢v¸¢uõÀ, AÁº 10% »õ£® Dmi°¸¨£õº. A¢u ö£õ¸Îß 
Esø©¯õÚ Âø» GßÚ ?

A) ¹. 500 B) ¹. 600 C) ¹. 700 d) ¹. 800
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86. statement : The Earth’s outer core is liquid, while the inner core is solid.
  assertion : The immense pressure at the Earth’s center forces the inner core into a 

solid state despite its high temperature.
Which of the following is correct ?

A) Both the Statement and Assertion are true and the Assertion is the correct 
explanation of the Statement

B) Both the Statement and Assertion are true, but the Assertion is not the correct 
explanation of the Statement

C) The Statement is true, but the Assertion is false

d) The Statement is false, but the Assertion is true

87. Which of the following statements are correct in relation to the rotational characteristics 
of planets in our solar system ?

i. With the exception of Venus and mars, all the planets rotate in the same clockwise 
direction.

ii. With the exception of Uranus and Neptune, all the planets rotate in the same counter 
clockwise direction.

iii. With the exception of Venus and Uranus, all the planets rotate in the same counter 
clockwise direction. 

iv. All the planet’s orbits lie close to the same plane (the plane of the ecliptic) passing 
through the Sun’s equator.

A) Only (i and ii) B) Only (i and iii) C) Only (ii and iv) d) Only (iii and iv)

88. Arrange the following atmospheric components in order from most abundant to least 
abundant.

1. Argon   2. Nitrogen 

3. Carbon dioxide   4. Oxygen

A) 2, 4, 1, 3 B) 4, 2, 1, 3 C) 2, 1, 4, 3 d) 2, 3, 4, 1

89. match the term with its description regarding air mass stability.

term description 

i. Stable air mass a. Air that resists vertical motion, leading to layered  
clouds and smooth air

ii. Unstable air mass b. Air that promotes vertical motion, leading to  
thunderstorms and turbulent air

iii. Conditional instability c. Air that is stable for unsaturated air, but  
becomes unstable when saturated

A) i-a, ii-b, iii-c B) i-b, ii-a, iii-c  C) i-c, ii-a, iii-b d) i-a, ii-c, iii-b
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86. AÔUøP : §ª°ß öÁÎ¨¦Ó ø©¯¨£Sv vµÁ©õÚx, A÷u \©¯® EÒ ø©¯¨ 
£Sv vh©õÚx.

  TØÖ : §ª°ß ø©¯¨£Sv°À  EÒÍ  ªP¨ö£›¯  AÊzu®, Auß AvP öÁ¨£{ø» 
C¸¢u÷£õv¾® EÒ ø©¯¨£Svø¯ J¸ vh {ø»USz uÒÐQÓx.

  ¤ßÁ¸ÁÚÁØÔÀ Gx \›¯õÚx?
A) AÔUøP ©ØÖ® TØÖ Cµsk® Esø©, ÷©¾® TØÓõÚx AÔUøP°ß 

\›¯õÚ ÂÍUP©õS®
B) AÔUøP ©ØÖ® TØÖ Cµsk® Esø©, ÷©¾® TØÓõÚx AÔUøP°ß  

\›¯õÚ ÂÍUP® AÀ»
C) AÔUøP Esø©, BÚõÀ TØÖ uÁÓõÚx
d) AÔUøP uÁÓõÚx, BÚõÀ TØÖ Esø©

87. |©x ̀ ›¯ ©sh»zvÀ EÒÍ ÷PõÒPÎß _ÇØ] £s¦PÒ öuõhº£õP ¤ßÁ¸® 
TØÖPÎÀ Gx \›¯õÚx?

i. öÁÒÎ ©ØÖ® ö\ÆÁõ´ uÂµ, AøÚzx ÷PõÒPÐ® J÷µ PiPõµ Áõ›¯õP 
vø\°À _ÇÀQßÓÚ.

ii. ²÷µÚì ©ØÖ® ö|¨i³ß uÂµ, AøÚzx ÷PõÒPÐ® J÷µ Gvº PiPõµ 
Áõ›¯õP vø\°À _ÇÀQßÓÚ.

iii. öÁÒÎ ©ØÖ® ²÷µÚì uÂµ, AøÚzx ÷PõÒPÐ® J÷µ Gvº PiPõµ 
Áõ›¯õP vø\°À _ÇÀQßÓÚ. 

iv. AøÚzx ÷PõÒPÎß _ØÖ¨£õøuPÐ® `›¯Ûß §©zv¯ ÷µøP ÁÈ¯õP  
ö\À¾® J÷µ uÍzvØS (QµPnzvß uÍ®) A¸QÀ EÒÍÚ.

A) Only (i and ii) B) Only (i and iii) C) Only (ii and iv) d) Only (iii and iv)

88. ¤ßÁ¸® ÁÎ©sh» TÖPøÍ ªP AvP©õÚ A£ßhßiÀ C¸¢x SøÓ¢u 
A£ßhßiÀ Á›ø\¨£kzuÄ®.

1. BºPõß  2. ø|mµáß 

3.  Põº£ß øh BUø\k 4. BUêáß

A) 2, 4, 1, 3 B) 4, 2, 1, 3 C) 2, 1, 4, 3 d) 2, 3, 4, 1

89. PõØÖ {øÓ {ø»zußø© öuõhº£õÚ Auß ÂÍUPzxhß C¢u Áõºzøuø¯ 
ö£õ¸zuÄ®.

ö\õÀ ÂÍUP® 
i. {ø»¯õÚ PõØÖ {øÓ a. ö\[Szx C¯UPzøu GvºUS® PõØÖ,  

AkUS ÷©P[PÒ ©ØÖ® ö©ßø©¯õÚ   
PõØÖUS ÁÈÁSUQÓx

ii. {ø»¯ØÓ PõØÖ {øÓ b. ö\[Szx C¯UPzøu FUSÂUS® PõØÖ,  
Ci²hß Ti¯ ©øÇ ©ØÖ®    
öPõ¢uÎ¨£õÚ PõØÖUS ÁÈÁSUQÓx

iii. {£¢uøÚ EÖv¯ØÓ ußø© c. {øÓÄÓõu PõØÖUS {ø»¯õÚ PõØÖ, BÚõÀ 
{øÓÄÖ®÷£õx {ø»¯ØÓuõP ©õÖ® 

A) i-a, ii-b, iii-c B) i-b, ii-a, iii-c  C) i-c, ii-a, iii-b d) i-a, ii-c, iii-b
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90. Arrange the following steps in the process of coral bleaching.

1. Corals expel their symbiotic algae.

2. Increased water temperature.

3. Corals loose their colour and become stressed. 

4. Reduced photosynthetic activity.

A) 2, 4, 1, 3 B) 1, 3, 2, 4 C) 2, 1, 4, 3 d) 4, 2, 3, 1

91. assertion (a) : Epeirogenic movements result in the formation of deep ocean 
trenches.

  reason (r) : Epeirogenesis involves localized, intense folding and faulting of rock 
layers.

Which of the following is correct ?

A) Both A and R are true and R is the correct explanation of A

B) Both A and R are true but R is not the correct explanation of A

C) A is true but R is false

d) A is false but R is true

92. match the volcanic component with the function.

component Function 

i. magma chamber   a. Pathway for magma to rise.

ii. Conduit   b. Storage of molten rock beneath the surface

iii. Vent   c. Opening through which volcanic gases and  
   materials escape. 

A) i-a, ii-b, iii-c B) i-b, ii-a, iii-c  C) i-b, ii-c, iii-a d) i-a, ii-c, iii-b

93. Around a low pressure center in the Northern Hemisphere, surface winds

A) circulate clockwise and diverge

B) circulate counter clockwise and converge

C) circulate clockwise and converge 

d) circulate counter clockwise and diverge

94. Which characteristic of an underwater earthquake is most likely to generate a Tsunami ?

A) Its magnitude on the Richter scale

B) Its depth and vertical displacement of the sea floor

C) Its distance from the nearest landmass 

d) Its duration
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90. £ÁÍ¨£õøÓ öÁÐ¨¦ ö\¯À£õmiÀ ¤ßÁ¸® £iPøÍ JÊ[S£kzx[PÒ.

1. £ÁÍ¨£õøÓPÒ AÁØÔß TmkÁõÌ £õ]PøÍ öÁÎ÷¯ØÖQßÓÚ.

2. AvP›zu }ºöÁ¨£{ø».

3. £ÁÍ¨£õøÓPÒ u[PÒ {Ózøu CÇ¢x AÊzuzvØS BÍõQßÓÚ.

4. JÎa÷\ºUøP ö\¯À£õk SøÓQÓx.

A) 2, 4, 1, 3 B) 1, 3, 2, 4 C) 2, 1, 4, 3 d) 4, 2, 3, 1

91. TØÖ (a) : G¤÷µõöáÛU C¯UP[PÒ BÇ©õÚ PhÀ APÈPøÍ E¸ÁõUSQßÓÚ.

  Põµn® (r) : G¤÷µõöáöÚ]ì Gß£x £õøÓ AkUSPÎß  EÒÑº ©¯©õUP¨£mh, 
wÂµ©õÚ ©i¨¦ ©ØÖ® ¤ÍÄPøÍ EÒÍhUQ¯x.

 R÷Ç öPõkUP¨£mkÒÍÁØÔÀ Gx \›¯õÚx ?

A) (A) ©ØÖ® (R) Cµsk® Esø©, ÷©¾® (R) Gß£x (A) Cß \›¯õÚ ÂÍUP® 

B) (A) ©ØÖ® (R) Cµsk® Esø©, BÚõÀ (R) Gß£x (A) Cß \›¯õÚ ÂÍUP® AÀ»

C) (A) Gß£x Esø©, BÚõÀ (R) Gß£x uÁÖ

d) (A) Gß£x uÁÖ, BÚõÀ (R) Gß£x Esø©

92. G›©ø» TÖPøÍ ö\¯À£õmkhß ö£õ¸zuÄ®.

TÖ ö\¯À£õk 

i. ©õU©õ AøÓ  a. ©õU©õ GÊÁuØPõÚ £õøu ÁÈ

ii. SÇõ´  b. ÷©Ø£µ¨¤ØS Ai°À E¸Q¯ £õøÓ°ß ÷\ª¨¦ 
iii. PõØ÷Óõmh®  c. G›©ø» Áõ²UPÒ ©ØÖ® ö£õ¸mPÒ    

   öÁÎ÷¯Ö® vÓ¨¦ 

A) i-a, ii-b, iii-c B) i-b, ii-a, iii-c  C) i-b, ii-c, iii-a d) i-a, ii-c, iii-b

93. ÁhUS AøµU÷PõÍzvÀ J¸ SøÓ¢u AÊzu ø©¯zøua _ØÔ, ÷©Ø£µ¨¦ 
PõØÖ Ã_QÓx

A) PiPõµ vø\°À _ÇßÖ ÷ÁÖ£kQÓx

B) Gvº vø\°À _ÇßÖ SÂQÓx

C) PiPõµ vø\°À _ÇßÖ SÂQÓx 

d) Gvº vø\°À _ÇßÖ ÷ÁÖ£kQÓx

94. }¸UPi°À §ª Avºa]°ß G¢u £s¦ _Úõªø¯ E¸ÁõUP AvP Áõ´¨¦ÒÍx?

A) ›Uhº AÍÂÀ Auß AÍÄ

B) PhÀ uÍzvß Auß BÇ® ©ØÖ® ö\[Szx Ch¨ö£¯ºa]

C) A¸Q¾ÒÍ {»¨£µ¨¤¼¸¢x Auß yµ® 

d) Auß Põ» AÍÄ



64/25 – t 

a -36- 

95. Which of the following statements accurately describes a debris flow ?
A) It is a slow, gradual movement of soil
B) It involves the free fall of rock or debris
C) It is a rapid, fluid like movement of a mixture of water, rock, soil and organic debris
d) It is characterized by the movement of dry unconsolidated material

96. Which of the following physical features that are developed in the upper or mountain course 
of a river ?

A) meanders and River Cliff 

B) V-shaped Valley and Gorges

C) U-shaped Valley and Potholes 

d) Flood Plain and Oxbow lake

97. Which of the following is not a cause of cultural lag ?

A) Swift advancement of technology 

B) Absence of legislative changes

C) Slow cultural and social adjustment 

d) Increased education and awareness

98. match list – 1 with list – 2 and select the correct answer from the codes given below.
List – 1 List – 2
(tribes) (states) 

a. Soligas   i. Kerala
b. Kolis   ii. madhya Pradesh
c. Kurumbas   iii. Karnataka 
d. Baigas   iv. maharashtra 
codes :

a b c d
A) iii iv i ii  
B) i  ii iii iv
C) ii iv i iii 
d) ii iii iv i

99. The term “troposphere temperature fall” refers to
A) Thermal loss B) Adiabatic rate
C) laps rate d) Temperature drops

100. The planetary winds that move between the equatorial lowlands and the subtropical 
highlands, is known as
A) Westerlies 
B) Polar easterlies
C) monsoon winds 
d) Trade winds
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95. ¤ßÁ¸® TØÖPÎÀ Gx S¨ø£PÒ Kmhzøu xÀ¼¯©õP ÂÁ›UQÓx?
A) Cx ©soß ö©xÁõÚ, £i¨£i¯õÚ C¯UP®
B) Cx £õøÓ AÀ»x S¨ø£PÒ _u¢vµ©õP ÂÊÁøu EÒÍhUQ¯x
C) Cx }º, £õøÓ, ©s ©ØÖ® P›© S¨ø£PÒ BQ¯ÁØÔß P»øÁ°ß ÂøµÁõÚ, 

vµÁ C¯UP® ÷£õßÓx
d) Cx E»º¢u J¸[QønUP¨£hõu ö£õ¸mPÎß C¯UPzuõÀ ÁøP¨£kzu¨ 

£kQÓx
96. J¸ |v°ß ÷©À AÀ»x ©ø»¨ £õøu°À E¸ÁõS® C¯Ø¤¯À A®\[PÎÀ  

¤ßÁ¸Áx Gx?
A) «shºì ©ØÖ® |v SßÖ 
B) V-ÁiÁ £ÒÍzuõUS ©ØÖ® £ÒÍzuõUSPÒ
C) U-ÁiÁ £ÒÍzuõUS ©ØÖ® SÈPÒ 
d) öÁÒÍ \©öÁÎ ©ØÖ® BUì÷£õ H›

97. ¤ßÁ¸ÁÚÁØÔÀ Gx P»õa\õµ ¤ßÚøhÄUSU Põµn® AÀ»?
A) öuõÈÀ~m£zvß ÂøµÁõÚ •ß÷ÚØÓ®
B) \mhª¯ØÖ® ©õØÓ[PÒ CÀ»õø©
C) ö©xÁõÚ P»õa\õµ ©ØÖ® \‰P \›ö\´uÀ
d) AvP›zu PÀÂ ©ØÖ® ÂÈ¨¦nºÄ

98. £mi¯À – 1 I £mi¯À – 2 Ehßö£õ¸zv R÷Ç öPõkUP¨£mkÒÍ SÔ±kPÎ¼¸¢x 
\›¯õÚ £vø»z ÷uº¢öukUPÄ®.

£mi¯À – 1 £mi¯À – 2
(£Ç[Si°Úº) (©õ{»[PÒ) 

a. ÷\õ¼PõUPÒ  i. ÷PµÍõ
b. ÷Põ¼PÒ    ii. ©zv¯¨ ¤µ÷u\®
c. S¸®£õUPÒ  iii. Pº|õhPõ 
d. ø£PõUPÒ   iv. ©Põµõèiµõ 
SÔ±kPÒ :

a b c d
A) iii iv i ii
B) i ii iii iv
C) ii iv i iii
d) ii iii iv i

99. ‘‘m÷µõ÷£õì¤¯º öÁ¨£{ø» ÃÌa]’’ GßÓ ö\õÀ ¤ßÁ¸ÁÚÁØøÓU SÔUQÓx
A) öÁ¨£ CÇ¨¦ B) Ai¯õ£õiU ÂQu®
C) ÷»¨ì ÂQu® d) öÁ¨£{ø» ÃÌa]PÒ

100. §©zv¯ ÷µøP uõÌ{»[PÐUS® xøn öÁ¨£©sh» ©ø»PÐUS® Cøh°À 
|P¸® ÷PõÒPõØÖPÒ ¤ßÁ¸©õÖ AøÇUP¨£kQßÓÚ

A) ÷©ØS vø\PÒ (öÁìhºø»ì) 
B) x¸Á QÇUS vø\PÒ (÷£õ»õº Dìhºø»ì) 
C) £¸ÁU PõØÖ 
d) ÁºzuP PõØÖ
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space for rough work
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space for rough work
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S\Lh|°tORa BRW I¹U : 100 yopU : 90 o]j]ŸV 

  kqoLvi] oL¡¨V  : 100

          DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

 1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. a, B, c, d IÐ} jLsV Aƒq SWLcOWt]
sOç S\Lh| kOñW°tLeV j¤WOÐfV.

 2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]ˆ]
ŸOºV.

 3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

 4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

 5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥¨V sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] 
vL°OW.

 6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

 7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj]¨V sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU 
NWooLp] DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL,  
v]ŸOSkLpSfL Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ 
RWLºOvq]WpOU ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU  
R\SáºfLeV. CfV JãvOU NkiLjRÕŸfLeV.

 8. CT S\Lh|SkÕr]Rs 1 oOf¤ 100 vRqpOç S\Lh|°¥ CUYæ}x]sOU fo]u]sOoLp]  A\ÿa]\ÿ]q]¨OÐO. CT  
S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV oLi|o¾]sOç S\Lh|°tLeV 
BiLqoL¨OÐfV.

 9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. 
CfV D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

 10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

 11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (a), (B), (c), (d) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]
pO¾qU yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV 
WrOÕ]¨OW.

 12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

 13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]̂ ]SsãRr J¤Õ]̈ LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

 14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.

S\Lh|kOñW AƒqSWLcV

S\Lh| kOñW NWojÒ¡


